
BEGIN

UCT

REGISTER

TransmitFrame(DA,SA,MAC Control,
opcode <= REGISTER|LLID|registerStatus)

MACR(DA, register, LLID, registerStatus)

WAIT FOR REGISTER

Figure 64-19 (new)



Figure 64-20, was
Figure 64-19

COMPLETE DISCOVERY

[stop ONU_timer]

DISCOVERY NACK
MACI(register_ack, SA, ID, status <=

degegister, RTT)

DEREGISTER

MACI(register_ack, status <= deregister)
TransmitFrame(DA, SA, MAC Control, opcode<=
REGISTER|LLID|registerStatus   <= deregister

MACR(DA, gate, n, start[4], length[4],
discovery, force_report[4])

WAIT FOR GATE

registered = false

opcode_rx = REGISTER_ACK

flag_rx != ACKflag_rx = ACK

MACR(DA, register, registerStatus <=
deregister) + mpcp_timer_done + (opcode =

REGISTER_REQ) * (flags = deregister)

registered * timestampDrift

ONU_timer_done

UCT

UCT

BEGIN

MACR(onu_ack=true)

REGISTERED

registered <= true

WAIT FOR ACK
MACI(register_ack, state.MAC, state.ID,
registerStatus = accepted, RTT)

MACR(onu_ack = false)

WAIT FOR REGISTER_ACK
TransmitFrame(DA, SA, MAC Control, opcode <=
gate|n|start[4]|length[4]|discovery|force_report[4])

[start ONU_timer]

NOTE: Need to define MACR(ack) or similar primitive.  This comes
from the client and says whether or not the ONU's register ack is
acceptable.


